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1 REOBZE  (—fRash)

(1) ISCRBE
—HRSFEORGARIL, A 266 {5 4,943 )7 7 TH. skt 263 {7,373 J7 8 TH T, Ak
MZES IR, 287,569 7 9 FHOEF LY | 2206 IEEAEY g~ & AR 5, 723
76 THZELIIE L, FFEINSIE2ME 1,846 73 THOBRFLARD L LT,

(2) % A

IR ARRAEIL, 266 {5 4,943 )7 7T TH T, BIAEE 272 (88,079 11 6 THICH~D L, 68
3,135 59 TH (2. 3%) D& 720 £ L7z,

I ANRBFER R OMERLEE DT 72 b O, TR 67 8 2, 740 77 1 TH(25. 3%) . Fhfi<e 54 &
9,927 75 8 T-H (20. 6%) . #1541 81 43 {5 7, 862 J7 6 T-H (16. 4%) . [EIJdE 4 Hi4: 33 {5 1, 492
778 T (12.4%) . WS4 17 2806 17 4 T11(6.4%) . THifE 11 423,090 7 (4. 2%) .
HGHEBIAZA 4 1R 1,991 5 2 TH (4. 2%) . sEUILA 645 3,720 59 T-H (2. 4%) & 725
TWET,

AR L T2 & L= ER b O, MR (+1 18 7,667 J5 5 T,
+194.8%) ., HFAAIHL (+1 /& 6,653 J7 3 TH., +4.0%), AL (+1 (& 3,172 J5
4 TH., +23.9%) &> TWET,

W L= boid, T4 (A5 & 717 75 2 TH. A8.4%). Mullid: (A5 {§ 617 7
4 TH., AT3.7%). Tl (A31E 4,950 FH. A4.9%) L7R->TWET,

(3) m& i
ik IR RARI L, 2637, 373 J7 8 T-FC. RIAEEE 270 /9, 991 T HICH AL & | T{F 2, 617
T3 2 FM Q2. 7%) D &7 £ Lz,
O HAR ORI
A BB R N O Rl b D 70 b DI, BRAE 76 (R 7,955 7 5 T-1(29. 1%) . #8355
#5859, 741 75 9 T (22. 4%) . #EH 26 15 2,873 J7 9 T-H(10. 0%) . i EE 20 {5
9,453 17 5 T (7.9%) ., A 17(%5,356 55 TH (6. 7%) . s&3H4 1718 4,906 )7 5
T (6. 6%) ZMEE 1715 2,068 77 6 T-H (6.5%) & 72> TWET,



AR L Mg d 2 & WML =R b0k, HEE (+442805 51 TH, +18.4%),
s e (H1485,2656 79 TH., +9.6%). HB#E (+1,561 2 TH, +2.0%) &72
STWVWET,

W L= F2 b o, AMEE (A2%9,685 079 TH., A4 7%), PATE (A21{E
5,423 77 3 TH., A28.5%). FEMAKFEREL (A24€3,552 79 T, Al6.5%) L72o>T
WET,

O #hno L/ Mg

BE®E  DTEREREIRECE D

e PR R LSRN DY
O PO ERNE

NMEF THIBER AR IR D5 = 7 X —H YR HEEE OEIEE T

PALE DRI EAMEERMB &R T

@ MHERIH OHRD

PEE Rk R R O L D 3272 6 DIE, MBI 64 /5 1, 810 51 (24. 4%) . kBE
ATE 7,357 5 1 TH (18.1%) . AF# 42 & 132 J7 1 (16.9%) . % 37 (& 4, 573 J7 1
(14.2%) ., R F¥EE 17 8 5,889 17 3 T (6.7%). FE 4 17 {8 4,906 17 5 T
(6.6%) . ANMEE 172,068 J76 T (6.5%) &7e>TWET,

AL & T2 & L7222 b ol AMFE#E (+4 4% 1,400 )7 2 TH, +10.9%) .
B (F1488,599 57 TH., 4.1%) &> TWET,

Wb U= E722 b O, #iBEZ%E (A9E 6,410 7 7 TH, A13.1%) ., 2AMEE (A2 9, 685
9 TH, Ald.T%) L72>TWET,

@ FFRIEE M OMBZERFT~ D& S T A D AR

ik R RLAR Tl (B R ORRAFR S F 4 3 3, 069 )5 7 T-H, Il RBREAIE i
i 8 {835 7 1 TH, &Mlmilnd R A xiti e 19,287 17 6 TH., KEFES
FHEBNA 122,592 173 T (55 9,498 75 6 T MLl misct R ARSI fiEA) |
TKIE S ESEHHNA 6 (86,620 1 9 T (AL TF/KIE 38 4, 761 1 7 T, BEEKEK
3(E755 57T FHM, a3a=74 77> b 1,103 55 THM) ., FbiEESFHHIE 7 (5
5,000 T & 725> TWET,



2 R EM(— k=)

(1) % A (HNZ: FH)
o 6 4F o5 AR E
X 9 WO | HEEER
WA OB MEREY RO FE | WERkE

% % %
5 Pl 6,727,401 25.3 7,076,901 25.9 A 349,500 A 4.9
10 # K FE 5 B 168,594 0.6 166,472 0.6 2,122 1.3
5 F 7 #W R & 4,134| 0.0 3,007| 0.0 1,127 37.5
16 B M # & f & 73,689| 0.3 55,027 0.2 18,662 33.9
17 #2055 58 I A 15 B &2 4 & 97,149 0.4 58,553 0.2 38,596 65.9
18 = N F ¥ B & & 128,090, 0.5 127,367 0.5 723 0.6
19 #t 5 #H B B LA & 1,119,912 4.2 1,060,658, 3.9 59,254 5.6
20 v 7 5 R B AR AT 4 70,534| 0.3 70,936 0.3 A 402 A 0.6
25 B # SRR A e 0 0.0 1,697| 0.0 A 1,697 A 100.0
26 B OB OMEoRE W &2 AP & 36,542| 0.1 30,893| 0.1 5,649 18.3
30 AR A T T B R A AT 34,257| 0.1 34,360/ 0.1 A 103 A 0.3
33 K B OBl % M & 267,388 1.0 90,713| 0.4 176,675  194.8
3B M K & B 4,378,626 16.4 4,212,093 15.4 166,533 4.0
S TR © S ) 3,838,127 14.4| 3,675,654 13.5 162,473 4.4
Booowl & A Bl 540,499 2.0 536,439 1.9 4,060 0.8
40 A2 3@ 22 4 kR R Bl A2 AT 4 4,160/ 0.0 4,590/ 0.0 A 430 A 9.4
45 4y & Kk O A #H & 70,148| 0.3 77,516 0.3 A T7,368] A 95
50 f#E M OBF & Y F OB 272,995 1.0 275,615 1.0 A 2,620 A 1.0
55 S S s B 3,314,928 12.4 3,304,555 12.1 10,373 0.3
60 U X i 4 1,708,064 6.4 1,784,531 6.6 A 76,467 A 4.3
65 i PE I A 40,544 0.2 17,862 0.1 22,682  127.0
0 % i) & 5,499,278 20.6 6,006,450 22.0 A 507,172 A 8.4
75 A 4 684,009 2.6 552,285 2.0 131,724 23.9
80 e 4 180,886 0.7 687,060/ 2.5 A 506,174 A 73.7
85 & I A 637,209| 2.4 572,855 2.1 64,354 11.2
90 i f& 1,130,900 4.2 1,008,800 3.7 122,100 12.1
754 A & & 26,649,437| 100.0 | 27,280,796| 100.0 A 631,359 A 2.3

_3_




(2) & H CH BB ER) (HAT: )
X s 4 6 4 Fn 5 A sk |
WeOROFE MERIE| R B BE (MR

% % %

5 i = # 169,621 0.7 164,785 0.6 4,836 2.9
10 # % # 5,897,419 22.4| 6,045,229 22.3| A 147,810 A 2.4
15 B # 7,679,555 29.1| 7,878,064 29.1| A 198,509| A 2.5
20 f4 4 # 2,094,535 7.9 2,164,522 8.0 A 69,987 A 3.2
25 % ] # 53,574 0.2 50,370 0.2 3,204 6.4
30 & A Kk E OE O 1,189,087 4.5 1,424,616 5.2 A 235,529 A 16.5
35 P T # 639,222 2.4 893,455 3.3 A 254,233 A 28.5
40 -+ A # 1,753,565 6.7 1,860,881 6.9 A 107,316 A 5.8
45 4 By # 797,954, 3.0 782,342 2.9 15,612 2.0
50 G # 2,628,739 10.0| 2,220,688 8.2 408,051 18.4
55 K &% H® B O # 716| 0.0 1,007 0.0 A 291 A 28.9
60 /A f& # 1,720,686 6.5 2,017,545 7.4 A 296,859 A 14.7
65 & 53 tH 4 1,749,065 6.6] 1,596,406 5.9 152,659 9.6
o b & @ 26,373,738 100.0 27,099,910/ 100.0| A 726,172| A 2.7

(3) sk H (CHEHE M ER (BNL: )
- s ‘%$D6$f§\ ‘%ﬂwﬁf? w g |

WeOROBH O RERCEL| IR OB BH | RERKEE

% % %

1 A (45 % 4,201,320, 15.9| 3,787,318 14.0 414,002 10.9
2 W (45 % 3,745,730|  14.2| 3,970,057 14.7| A 224,327 A 5.7
3 M FooMi & & 427,533 1.6 539,686 2.0 A 112,153 A 20.8
4 K Bl % 4,773,571 18.1|  4,587,574| 16.9 185,997 4.1
5 Hfi Bl # % 6,418,100 24.4|  7,382,207| 27.2| A 964,107| A 13.1
6 o gt R FOE R 1,758,893 6.7 1,716,475 6.3 42,418 2.5
TR EFEH B R ER 716 0.0 1,007 0.0 A 291 A 28.9
8 i ST & 1,749,065 6.6] 1,596,406 5.9 152,659 9.6
9 & & K & & 32,000 0.1 0 0.0 32,000  HHg
10 = fF 4 214,200 0.8 176,600, 0.7 37,600 21.3
11 2 f& # 1,720,686 6.5 2,017,545 7.4 A 296,859 A 14.7
12 # H 4 1,331,924|  5.1| 1,325,035, 4.9 6,889 0.5
W M A& F 26,373,738/ 100.0| 27,099,910/ 100.0| A 726,172 A 2.7
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FHERFHREA

(A T %)

H H a6 | A Fn s E | b o B R | xR
#h 7K A ] CiiINON) 40,645 41,182 A\ 537 98.7
w| B & £ (%) 98.5 98.5 0.0 100.0
& 7K s ¥ ) 20,045 19,928 117 100.6
” B ok & (% K & ) @) 4,831,042 4,880,762 A 49,720 99.0
1 B &k K B K B @ 14,660 15,050 A 390 97.4
B oy Bk R @) 13,236 13,335 A 99 99.3
A 1 7K 2 (m) 4,439,449 4,448,861 A 9,412 99.8
A i £ (%) 91.9 91.2 0.7 100.8
7K E = E3 I % 1,002,829 1,026,049 A 23,220 97.7
1. H % g gty 705,719 645,110 60,609 109.4
1 # K g gty 691,745 633,280 58,465 109.2
o @ = £ T #= W = 4,473 0 4,473 He
1 @B M = F A W & 1,908 4,822 A 2,914 39.6
4 = o fh B ¥ N K 7,593 7,008 585 108.3
Fay 2. H ES gk I gty 296,807 380,603 A 83,796 78.0
(1) n A A il 4 23,375 13,242 10,133 176.5
2 = B A B Kk O Y & 1,372 1,171 201 117.2
" Q) MEFFHMAHE R CAMSE 100,312 194,589 A 94,277 51.6
@ E # s = & B A 168,378 168,555 A 177 99.9
A (5) M g gty 3,370 3,046 324 110.6
3. 4 il il Fhy 303 336 A 33 90.2
g 1) TR OPE T OH 3% 0 0 0 —
(2 W F B O K & E &K 0 0 0
B = o M F B R &% 303 336 A 33 90.2
% K E = ES by H 1,141,714 1,181,667 A 39,953 96.6
1. ES % H 1,106,199 1,136,764 A 30,565 97.3
1 /B ok K O # oKk B 609,892 631,089 A 21,197 96.6
@ i K Kk O KB K # 77,125 89,953 A 12,828 85.7
~| % 3 = i T % # 2,384 0 2,384 B 1
(4) 3 % o 59,744 60,526 A 782 98.7
(5) % # 28,910 27,570 1,340 104.9
% (6) Ik i 18 H o 325,070 327,278 A 2,208 99.3
(1 & FE W *E o 3,074 344 2,730 893.6
® = o #h = ¥ #H H 0 4 A 4 O
2. H ES ah % H 35,515 44,903 A 9,388 79.1
73 " (1) SEFIE M O ZE 1 Bl i 2 23,389 23,811 A 422 98.2
(2) M x H 12,126 21,092 A 8,966 57.5
3. 4 1l 18 ES 0 0 0 —
_ 1) E R OE O OH OH 0 0 0 —
(2 i@ F E B & & E B 0 0 0 —
@B = o M K B OB K 0 0 0
fll # % A 138,885 A 155,618 16,733 89.2
‘ 5 FS 5] Iy A 182,335 263,040 A 80,705 69.3
“ R ES & 81,500 123,000 A 41,500 66.3
* 2. JiE 1 B 4 27,139 31,593 A 4,454 85.9
3.f &= i A W & 9,896 8,447 1,449 117.2
wl M2 T % A wm & 0 0 0 -
5. % O i B &K W I A 63,800 100,000 A 36,200 63.8
I % %N Y *x H 298,018 296,036 1,982 100.7
% X B4 W =8 o 183,668 176,459 7,209 104.1
AR S S SN 114,350 111,677 2,673 102.4
= 3. # & 0 7,900 A 7,900 BE R
T~ & 5B % %A 115,683 32,996 82,687 350.6
B [ #f %mrgamﬁm&ommﬁ@mﬁijxﬁ <4 12,437 11,957 480 104.0
- WEESHEMTERE S 0 0 0 —
IR VRS E 1 20,791 3,131 17,660 664.0
- f= R G S = VAR L s S 82,455 17,908 64,547 460.4
AW OB OB s A& W 4y # 0 0 0 —
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6 TAGHHFERFHREA
(i : T4 %)

H H SRME6FEE | S F5FEE e gz 18 RIRTEL

e BoOX B N m B (ha) 2,491 2,491 0 100.0

i i = % () 16,318 16,398 A 80 99.5

E i A EENON) 40,957 41,499 A 542 98.7
K e 1t = % () 15,329 15,358 A 29 99.8

7K v 1t A EENON] 38,365 38,759 A 394 99.0
%% & £ (%) 99.3 99.3 0.0 100.0
7K s b (%) 93.7 93.4 0.3 100.3

£ oo Bk B M) 4,191,902 4,262,439 A 70,537 98.3
Bl1 B ¥ B o # Ok B @ 11,453 11,646 A 193 98.3
F ] H iyrd 7K 2 (m® 3,920,805 3,956,950 A 36,145 99.1

H 1% £ (%) 93.5 92.8 0.7 100.8

T ook o E O F X M K% 1,770,513 1,852,507 A 81,994 95.6

1 - I % 919,625 888,601 31,024 103.5

1% (1) ff bl et 860,333 861,583 A 1,250 99.9
i @ i = #H A #H & 58,067 26,739 31,328 217.2

B = o M = ¥ X K 1,225 279 946 439.1

% 2 ¥ 4 I % 843,216 963,852 A 120,636 87.5
1) =% B F B & O R Y 4 144 86 58 167.4

A 2 fit = F # B £ 390,999 504,778 A 113,779 77.5

Y (3) & 1 B 4 13 15 A 2 86.7
@ £ ¥ @ = & KB A 442,965 455,954 A 12,989 97.2

(5) Mt iyrd % 9,095 3,019 6,076 301.3

1 3 il F % 7,672 54 7,618 14,207.4
(1) & F FE B K B E K 0 0 0 —

2 %+ o M £ B RO 7,672 54 7,618 14,207.4

53 T ok #E F ¥ £ H 1,923,881 1,974,152 A 50,271 97.5
1 ES % H 1,744,149 1,781,954 A 37,805 97.9

1 & s % 87,497 81,733 5,764 107.1

~| % (2) # % # 447,895 449,360 A 1,465 99.7
(3) ¥ % % 19,364 19,764 A 400 98.0

4) # % # 20,244 17,879 2,365 113.2

Bl G B M E A 1,167,390 1,213,205 A 45,815 96.2
6) & E i *E # 1,759 13 1,746 13,530.8

2 = ES 4 % i 179,732 192,198 A 12,466 93.5

| (1) SRR R OV 348 Bk 7 2 176,645 191,774 A 15,129 92.1
(2) # 53 t 3,087 424 2,663 728.1

3 K il Ei= ES 0 0 0 —

~ () & F FE #H ik B E # 0 0 0 —
2 % o i £ 5 A K 0 0 0 —

Hll Ei= i A 153,368 A 121,645 A 31,723 —

" % A 5] 1 A 1,192,461 1,062,689 129,772 112.2
Hilaw |1 4 ES f& 869,500 677,100 192,400 128.4
A 2 WM % & 212,802 211,967 835 100.4
A3 #h B 4 72,666 152,034 A 79,368 47.8

) 4 £ H & 37,493 21,588 15,905 173.7
I 5 ObLBAEE~FRBINDZH MR T Y 0 27,000 A 27,000 %ﬁﬂa‘z
% A £ 53 H 1,732,847 1,854,896 A 122,049 93.4

Y| X1 & % % B % 396,512 459,171 A 62,659 86.4
A I I S U S 1,286,335 1,295,725 A 9,390 99.3

- 3. EFH»O0E MM ASHERES 50,000 100,000 A 50,000 50.0
| R it 3 % i 540,386 819,207 A 278,821 66.0
‘ Ml ®aeEE S >HEMERRE & 486,372 690,280 A 203,908 70.5
2 | W B R R R e 0 33,530 A 33,530 Bk
- A S T L OV T B B AR I SRR %E 23,780 24,411 /A 631 97.4
VS| R 24 T % % & 30,234 70,986 A 40,752 42.6
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7 bt ERRHAE

(WAL : 1., %)

TH H 4 N6 4 5 F 5 Z=5 | R S*FRIAEEE

" A R (N) 53,439 54,788 A1,349 97.5

E S % 1H3HY(AN) 146.4 149.7 A3.3 97.8
¥ Sk R (N) 70,483 80,750 10,267 87.3

¥ 1H3HY(AN) 290.1 332.3 A42.3 87.3
—A—B%y | ABE(H) 44,269 44,432 A163 99.6

B 2 B HE M [4ck() 12,169 12,408 239 98.1
J93 R FH 3 (— RS (893 IR LE) %o 73.6 75.2 A 1.6 97.9
SEHFEREHE(H) 17.1 16.9 0.2 101.2
T i NERS 4,145,833 4,481,004 A335,171 92.5

LEE N 3,648,754 3,871,061 N222,307 94.3

1 ABEU 2,365,668 2,434,338 AB8,670 97.2
PSS INE 907,888 1,047,660 A139,772 86.7

I Z DA, 375,198 389,063 A13,865 96.4

2 2. RSN 449,686 608,743 A 159,057 73.9
—EFAESe 383,018 361,719 21,299 105.9

[ Al Bh & 13,748 193,227 A179,479 7.1

NS F DA, 52,920 53,797 A8TT 98.4
3. BERIFILE 47,393 1,200 46,193 3,949.4

[ 7 pE e 4 0 0 0 —

I WA LR A I 0 0 0 —
F DA, 47,393 1,200 46,193 3,949.4

bt S A 4,828,286 4,741,667 86,619 101.8

53 LEFEEH 4,415,633 4,541,725 A126,092 97.2
KahE 2,850,468 2,839,572 10,896 100.4

MoEHE 562,397 649,160 86,763 86.6

~ | % L0y | T 316,396 379,763 A63,367 83.3
HERLD [y kL 202,436 229,311 26,875 88.3

TRy 776,328 786,922 A10,594 98.7

i wwo3L SeEoK 97,906 95,230 2,676 102.8
e 14,281 22,185 AT,904 64.4

g | 1 LAt E{%ﬂ 68,777 71,856 A3,079 95.7
ekt 506,478 487,660 18,818 103.9

DA AE H 2 210,257 246,383 A\36,126 85.3

F DA, 16,183 19,688 A3,505 82.2

— 2. B3 183,980 185,190 A1,210 99.3
RESVIEEES 228,673 14,752 213,921 1,550.1

=g 682,453 A\260,663 A421,790 —

= ZNSII'PN 304,294 381,823 AT7,529 79.7

& IRTE 165,600 208,300 A42,700 79.5
ke I | 2. it &4 138,694 172,523 33,829 80.4
3. F 4 0 1,000 A1,000 Eeig

) 4. [ E & pE T R4 0 0 0 —
A | 5. 4804 0 0 0 —

I 6. T A& 0 0 0 —
% 7.2 DGR 0 0 0 —
& AR S 517,559 649,023 A131,464 79.7

. X ARG R 210,096 344,668 A134,572 61.0
| 2R ER G 307,463 304,355 3,108 101.0

i 3.4 0 0 0 —
- RET D% 213,265 267,200 A53,935 79.8
= B A T AF P A3 R AR B A2 R IR 4 212,394 265,796 /53,402 79.9
- TS S R A i E B AR 4 0 0 0 —
{E/V AR 3 1 A Bl B OV Y 2 B AU SR R4 871 1y404 /A533 62.0
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